-0,5
3,6

dY=A4[1+A,/A Y]
SizdYcieLas/dYinD=6.-4
X dYy Y
-1.0 0.03118
-0.5 0.054 5.6
0.0 0.127 18.0|
0.5 0.359 56.9|
1.0 1.091 180
Ay/A, = 0.2895
A;=0.0205 A = 0.005

Richter_D_PO2_022S
(xy.Y)=(0,33, 0,36, 18)

00 05 1,0 x=logY/Yyd
18 90 180 Y




dY=A,[1+A/A,Y]
#AYciELAB/dYiND=6.1
X dYy Y
-1.0 0.03 18
-0.5 0.055 5.6
0.0 0.133 18.0|
0.5 0.382 56.9|
1.0 1.17 180
Ay/A, = 0.3405
A;=0.0187 A = 0.006
Az=10 A=10
Richter_D_PO2_066S
;_ (x.y,Y)=(0,33, 0,36, 18)
R A
05 00 05 1,0 %=log[Y/Y;]
36 18 90 180 Y




dY=A4[1+A,/A Y]
dYcieLas/dYinD=5.9
X dYy Y
-1.0 0.03318
-0.5 0.059 5.6
0.0 0.139 18.0|
0.5 0.394 56.9|
1.0 1.198 180
Ay/A = 0.298
A;=0.0219 A = 0.006
Az=1.179 A=1685
Richter P_PO4_066A
(x.y,Y)=(0,33, 0,36, 18)

e
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y




